Practice 10-2, Mixed Exercises
1. £ AXB = £ RXQ because vertical angles are =.

/ A= /R (Given). Therefore AAXB ~ ARXQ b}f
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the AA — Postulate. 2. Since IW = WA = AL —‘4'

AMPX ~ ALWA by the SSS ~ Theorem. 3. ZQMP =
/_AMB because vertical 2 s are =. Then, since %ﬁ =

EM _ & AQMP ~ AAMBDby the SAS ~ Theorem.

4. /LM £ A (Given). And, since there are 180° in a triangle,
m/ ] = 130,and 2 J= 2 C.So, AMJN ~ AACBby

the AA ~ Postulate. 5. Since AX = BXand CX = RX,

% = % And # AXB = / CXB because vertical angles

are =. Therefore AAXB ~ ACXR by the SAS ~ Thenrem.
6. SmceAB BC=CAand XY = YZ = ZXH: =
% = Z’f’ Then AABC ~ AXYZ by the SSS ~ Theorem.
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the SSS ~ Theorem; x = 90. 12. Smce XY =77 =2 and

/B= 2 Y(Given), AABC ~ AXYZ by the SAS ~

Theorem: x = %9



